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1. Rayya Co. purchases and installs a machine on January 1, 2007, at a total cost of $105,000.
Straight-line depreciation is taken each year for four years assuming a seven-year life and no
salvage value. The machine is disposed of on July 1, 2011, during its fifth year of service.
Prepare entries to record the partial year's depreciation on July 1, 2011, and to record the disposal
under the following separate assumptions: (1) the machine is sold for $45,500 cash and (2) Rayya
receives an insurance settlement of $25,000 resulting from the total destruction of the machine in
a fire.

2. Del Gato Clinic deposits all cash receipts on the day when they are received and it makes all cash
payments by check. At the close of business on June 30, 2011, its Cash account shows an
$11,589 debit balance. Del Gato Clinic's June 30 bank statement shows $10,555 on deposit in the
bank. Prepare a bank reconciliation for Del Gato Clinic using the following information:

a. Outstanding checks as of June 30 total $1,829.

b. The June 30 bank statement included a $16 debit memorandum for bank services.

c. Check No. 919, listed with the canceled checks, was correctly drawn for $467 in payment of a
utility bill on June 15. Del Gato Clinic mistakenly recorded it with a debit to Utilities Expense
and a credit to Cash in the amount of $476.

d. The June 30 cash receipts of $2,856 were placed in the bank's night depository after banking
hours and were not recorded on the June 30 bank statement.
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3. The equity section of Cyril Corporation's balance sheet shows the following.
Preferred stock—6% cumulative, $25 par value, $30 call

price, 10,000 Mmﬂ and outstanding . ...iveeveaenan $ 250,000
Common stndt*'\fmplrnlue.wm shares

issued and om:tanﬁzg .............................. 800,000
Retainad amilngrs oo oo ot L oiinn v omins o vswan K ubmne g aeins 535,000
Total stockholders” €qUILY .+ « .+ + .« + v e e vntsssrnnsassnnennss $1.585,000

Determine the book value per share of the preferred and common stock under two separate
situations.

1. No preferred dividends are in arrears.

2. Three years of preferred dividends are in arrears.
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(1) 3A2H 45K (—)  $400,000 5% (%)
2) 6F78 60 % (=) 240,000 (=) 1,600
3) 98128 348A (Z) 120,000 3% (%)
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